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Number of Questions to be attempted : 20

Section Marks : 80
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870208
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7108708341 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following crops is a commercial crop in Punjab and Haryana but is a
subsistence crop in Qrissa?

1. Tea

2. Cotton

3. Rubber

4. Rice
Options :
71087033361. 1
71087033362. 2
71087033363. 3
71087033364. 4

Question Number : 2 Question Id : 7108708342 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following are the two most important wheat-growing zones of the country?
A. Ganga-Satluj plains in the north-west

B. Deltaic regions

C. Black sail region of the Deccan

D. Plains of north-east

Choose the correct answer from the options below:

1.Only A and B
2.Only B and C
3.0nlyCand D
4. Only Aand C
Options :
71087033365. 1
71087033366. 2
71087033367. 3
71087033368. 4

Question Number : 3 Question Id : 7108708343 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Indian agriculture is typically characterized as

1. Land surplus, labour scarce economy
2. Land surplus, labour surplus economy
3. Land scarce, labour surplus economy
4. Land scarce, labour scarce economy
Options :

71087033369. 1



71087033370. 2
71087033371. 3
71087033372. 4

Question Number : 4 Question Id : 7108708344 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries is the main rival of India in tea export?

1. China

2. Japan

3. Germany

4. Sri Lanka
Options :
71087033373. 1
71087033374. 2
71087033375.3
71087033376. 4

Question Number : 5 Question Id : 7108708345 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement A: MSP is declared by the government every year to provide incentives to the
farmers for raising the production of crops.

Statement B: Buffer stock is created to distribute food grains in the deficit areas and among
the poorer strata of the society at the lower price than the market price.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement A and Statement B are correct

2. Both Statement A and Statement B are incorrect
3. Statement A is correct but Statement B is incorrect
4, Statement A is incorrect but Statement B is correct
Options :

71087033377. 1

71087033378. 2

71087033379. 3

71087033380. 4

Question Number : 6 Question Id : 7108708346 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is a global association of nations of the world to help cooperation
in international law, security, economic development and social equity?

1. United Nations Organization
2. International Monetary Fund
3. World Bank

4. World Health Organization



Options :

71087033381. 1
71087033382. 2
71087033383. 3
71087033384. 4

Question Number : 7 Question Id : 7108708347 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Under the Ganga Action Plan Phase Il, pollution abatement works are being taken up in how
many towns?

1. 57

2. 65

3.52

4. 69

Options :
71087033385. 1
71087033386. 2
71087033387. 3
71087033388. 4

Question Number : 8 Question Id : 7108708348 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following statements is incorrect?

1. The highest number of pigs in the world are found in India

2. Utter Pradesh provides largest amount of pork

3. Assam has the largest number of pork producing pigs

4. Pork constitutes about 7.6% of the total meat produced in India
Options :



71087033389. 1
71087033390. 2
71087033391. 3
71087033392. 4

Question Number : 9 Question Id : 7108708349 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is Question
Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which type of N-fertilizer is suitable for water-logged soils?

1. Zinc Phosphate

2. Ammonium Sulphate
3. Calcium

4. Potassium Nitrate
Options :

71087033393. 1
71087033394. 2
71087033395. 3
71087033396. 4

Question Number : 10 Question Id : 7108708350 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The famous Bailadila range of hills in the Bastar district of Chhattisgarh is famous for its

1. Bauxite deposits

2. Manganese deposits

3. Copper deposits

4. High-grade haematite deposits
Options :

71087033397. 1



71087033398. 2
71087033399. 3
71087033400. 4

Question Number : 11 Question Id : 7108708351 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A farmer wishes to start a 100 sg. m rectangular vegetable garden. Since he has only 30m
barbed wire, he fences three sides of the garden letting his house compound wall act as the
fourth side fencing. What is the dimension of the garden?

1. 15 m x 6.6/m
220mx5m
330mx333m
4 40mx25m
Options :
71087033401. 1
71087033402. 2
71087033403. 3
71087033404. 4

Question Number : 12 Question Id : 7108708352 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which one of the following industries, the consumption of natural rubber is the largest?

1. Auto tyres and tubes
2. Footwear

3. Dipped goods

4. Latex foam

Options :



71087033405. 1
71087033406. 2
71087033407. 3
71087033408. 4

Question Number : 13 Question Id : 7108708353 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following countries was the partner country of 34" Surajkund International
Crafts Fair held in Haryana?

1. China

2. Nepal

3. Bhutan

4, Uzbekistan
Options :
71087033409. 1
71087033410. 2
71087033411. 3
71087033412. 4

Question Number : 14 Question Id : 7108708354 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Nobel laureate Abhijit Vinayak Banerjee was conferred the honorary Doctor of Letters (D. Litt.)
by which University?

1. University of Delhi

2. University of Kolkata

3. University of Mumbai

4. University of Hyderabad



Options :

71087033413. 1
71087033414. 2
71087033415. 3
71087033416. 4

Question Number : 15 Question Id : 7108708355 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Where is the headquarters of European Union?

1. Geneva, Switzerland
2. Washington D.C., USA
3. New York, US

4. Brussels, Belgium
Options :

71087033417. 1
71087033418. 2
71087033419. 3
71087033420. 4

Question Number : 16 Question Id : 7108708356 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following would be deficient if one finds high somatic cell count in the cow's
milk?

1. Butterfat

2. Whey protein
3. Casein

4, Trace minerals



Options :

71087033421. 1
71087033422.2
71087033423. 3
71087033424. 4

Question Number : 17 Question Id : 7108708357 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Who was the first administrator-statesman to attempt planning as a means for economic
development?

1. C. Rajagopalachari

2. V. T. Krishnamachari

3. M. Viswesvarayya

4. Sir C. P. Ramaswami Aiyyar
Options :

71087033425. 1

71087033426. 2

71087033427 3

71087033428. 4

Question Number : 18 Question Id : 7108708358 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Amazon rainforest span over nine countries. In August 2019, in which country did a deadly fire
broke out in the Amazon forest?

1. Brazil

2. Venezuela
3. Colombia
4. Argentina



Options :

71087033429. 1
71087033430. 2
71087033431.3
71087033432. 4

Question Number : 19 Question Id : 7108708359 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Economic liberalization in India started with

1. Sustainable changes in industrial licensing policy
2. The convertibility of the Indian Rupee

3. Significant reduction of tax rates

4. Changes in procedural formalities for FDI
Options :

71087033433. 1

71087033434.2

71087033435. 3

71087033436. 4

Question Number : 20 Question Id : 7108708360 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The term ‘Delimitation’ which was in news recently is associated with which process?

1. Fixing the limit of Income tax

2. Fixing limits of Affordable housing

3. Fixing limits of Territorial constituencies
4. Fixing limits of Chairpersons salary
Options :

71087033437. 1



71087033438. 2
71087033439. 3
71087033440. 4

Part B Core Agricultural Economics and Agri Business Management

Section Id : 710870209
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870209
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7108708361 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Eleventh five year plan corresponds to the period

1. 2006 - 2011
2. 2007 - 2012
3. 2009 - 2014
4, 2008 - 2013
Options :

71087033441. 1
71087033442. 2



71087033443. 3
71087033444. 4

Question Number : 22 Question Id : 7108708362 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Among the following, consumption of which commodity has grown with the highest CAGR,
during the present millenium?

1. Maize

2. Wheat

3. Oilseeds

4. Pulses
Options :
71087033445, 1
71087033446. 2
71087033447. 3
71087033448. 4

Question Number : 23 Question Id : 7108708363 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List I

A. ISEC .. Mumbai

B. CDS Il. Thiruvananthapuram
C.IGIDR  |lll. Bengaluru

D. CSD V. Hyderabad

Choose the correct answer from the options given below:

TLA-NLB-ILC-1,D-IV
ZA-IN,B-IV,C-1,D-1
JA-ILB-ULC-IV,D-I
4 A-1,B-IV,.C-1I,D-1I
Options :

71087033449. 1
71087033450. 2
71087033451. 3
71087033452. 4

Question Number : 24 Question Id : 7108708364 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List 11

A. Abhijeet Bannerji l. Behavioural Economics

B. Richard Thaler Il. Welfare Economics

C. Amartya Sen lll. Free Trade

D. Jagdish Bhagwati IV. Experimental Economics

Choose the correct answer from the options given below:

TLA-NLB-IV,C-1,D-1
ZA-1LB-1LC-1I,D-IV
3A- VB-LC-I1,D-1I
4 A-1LB-IILC-1I,D-1IV
Options :

71087033453. 1
71087033454. 2
71087033455.3
71087033456. 4

Question Number : 25 Question Id : 7108708365 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT a core function of an organisation?

1. Product / service development
2. Accounting and finance

3. Operations

4. Marketing

Options :

71087033457. 1

71087033458. 2



71087033459. 3
71087033460. 4

Question Number : 26 Question Id : 7108708366 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The Director General of World Trade Organization is

1. Pascal Lamy

2. Roberto Azevedo
3. Robert Municho
4, Peter Drucker
Options :
71087033461. 1
71087033462. 2
71087033463. 3
71087033464. 4

Question Number : 27 Question Id : 7108708367 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Farrar-Glauber test is used to identify

1. Multi-collinearity

2. Autocorrelation

3. Spurious correlation
4. Heteroscedasticity
Options :

71087033465. 1
71087033466. 2
71087033467. 3
71087033468. 4



Question Number : 28 Question Id : 7108708368 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

NITI Ayog came into existence in

1. 2015

2. 2014

3. 2016

4. 2013
Options :
71087033469. 1
71087033470. 2
71087033471.3
71087033472. 4

Question Number : 29 Question Id : 7108708369 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: GREEN BOX subsidies will distort international trade
Statement II: AMBER BOX subsidies do not distort international trade

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :



71087033473. 1
71087033474. 2
71087033475. 3
71087033476. 4

Question Number : 30 Question Id : 7108708370 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: In preparation of agricultural projects, only tangible benefits are considered
Statement lI: In preparation of agricultural projects, intangible benefits are not considered

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087033477. 1

71087033478. 2

71087033479. 3

71087033480. 4

Question Number : 31 Question Id : 7108708371 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



hMatch List | with List 11

List | List I

A. Autocorrelation l. Frisch

B. Stationarity Il. Durbin-Watson

C. Multicollinearity IIl. Anderson and Bancroft
D. Unequal error variance|IV. Dicky Fuller

Choose the correct answer from the options given below:

1TLA-LB-I,C-1,D-1IV
ZA-1LB-IV,C-1,D-1lI
JA-1L,B-ILC-1IV,D-1lII
4 A-ILB-NLC-1,D-1IV
Options :

71087033481. 1
71087033482. 2
71087033483. 3
71087033484. 4

Question Number : 32 Question Id : 7108708372 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The break-even output for a firm with Rs. 2 lakh fixed cost and with unit selling price at Rs.
2900/- and unit variable cost less than Rs 500 of the unit selling price is

1. 410

2. 400

3. 450

4,430
Options :
71087033485. 1



71087033486. 2
71087033487. 3
71087033488. 4

Question Number : 33 Question Id : 7108708373 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Currently (March 2020), the Chairman of Commission for Agricultural Costs and Prices in
India is:

1. Ashok Gulati

2. Vijay Paul Sharma
3. Radhakrisnan

4. Mahender Dev

Options :

71087033489. 1
71087033490. 2
71087033491. 3
71087033492. 4

Question Number : 34 Question Id : 7108708374 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Discounted Cash Flow method of valuation is best suited for which one of the following?

1. Maize
2. Cotton
3. Wheat
4. Grape
Options :



71087033493. 1
71087033494. 2
71087033495. 3
71087033496. 4

Question Number : 35 Question Id : 7108708375 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Annual Revaluation method in valuation of assets best suited for

1. Pulses

2. Fruits

3. Nutricereals
4, Livestock
Options :
71087033497. 1
71087033498. 2
71087033499. 3
71087033500. 4

Question Number : 36 Question Id : 7108708376 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Crop forecasts and assessment of drought situation in the country is done by

1. 1ASRI

2. NCFC

3. IMD

4. RKVY
Options :
71087033501. 1
71087033502. 2



71087033503. 3
71087033504. 4

Question Number : 37 Question Id : 7108708377 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Sustainable Development Goals set in 2015 by the United Nations General Assembly are a
collection of how many Goals?

1.15

17

18

19

Options :
71087033505. 1
71087033506. 2
71087033507. 3
71087033508. 4

oW

Question Number : 38 Question Id : 7108708378 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Headquarters of WTO is located at

1. Zurich

2. Geneva

3. Rome

4. Capetown
Options :
71087033509. 1
71087033510. 2
71087033511. 3



71087033512. 4

Question Number : 39 Question Id : 7108708379 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The headquarters of FAO is located in

1. Washington, D.C.
2. Geneva

3. Rome

4, Paris

Options :
71087033513. 1
71087033514.2
71087033515. 3
71087033516. 4

Question Number : 40 Question Id : 7108708380 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

There is no degree of control over price in a

1. Monopoly

2. Pure Oligopoly

3. Perfect Competition

4. Differentiated Oligopoly
Options :

71087033517. 1
71087033518. 2
71087033519. 3
71087033520. 4



Question Number : 41 Question Id : 7108708381 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Cross elasticity of demand is very high under

1. Monopoly

2. Oligopoly

3. Monopolistic competition
4. Monopsony

Options :

71087033521. 1
71087033522.2

71087033523. 3

71087033524. 4

Question Number : 42 Question Id : 7108708382 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When two factors are perfect complements and their isoquants are right-angled, the
substitution elasticity between them is

1. Greater than zero, less than 1
2. Zero to one

3. Greater than 1

4 Zero

Options :

71087033525. 1

71087033526. 2

71087033527. 3

71087033528. 4

Question Number : 43 Question Id : 7108708383 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

Water-Diamond paradox is explained by

1. Revealed preference theory
2. Law of equi-marginal returns
3. Indifference curve approach
4. Consumer surplus

Options :

71087033529. 1

71087033530. 2

71087033531. 3

71087033532. 4

Question Number : 44 Question Id : 7108708384 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The President of the World Bank is

1. Jim Yong Kim
2. Robert Zoellick
3. David Malpass
4. Paul Wolfowitz
Options :
71087033533. 1
71087033534. 2
71087033535. 3
71087033536. 4

Question Number : 45 Question Id : 7108708385 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



To overcome the problem of multi-collinearity while analyzing the primary data, the best
option is

1. Step up regression

2. Dropping of variables
3. Step down regression
4. Principal component
Options :

71087033537. 1
71087033538. 2
71087033539. 3
71087033540. 4

Question Number : 46 Question Id : 7108708386 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The expected cash flows of a project are as follows

Year|Cash Flow
0 |-1,00,000

1 (20,000

2 30,000

i 40,000

4 [50,000

5 |30,000

The cost of capital is 12%.
The Net Present Value (NPV) will be

1.9,118
2.19,118
3.1,19,118
4,2,19,118
Options :
71087033541. 1
71087033542. 2
71087033543. 3
71087033544. 4

Question Number : 47 Question Id : 7108708387 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Merger of firms engaged in related lines of business is called

1. Horizontal merger

2. Vertical merger

3. Conglomerate merger
4. Cogeneric merger



Options :

71087033545. 1
71087033546. 2
71087033547. 3
71087033548. 4

Question Number : 48 Question Id : 7108708388 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Priority sector sending target for domestic scheduled commercial banks entails which of the
following?

A. 40% of Adjusted Net Bank Credit (ANBC) towards all priority sectors
B. 18% of ANBC towards agriculture

C. 10% of ANBC towards food processing sector

D. 8% of ANBC for small and marginal farmers

Choose the correct answer from the options given below:

1. A, B and C only
2. A, B and D only
3. A, Cand D only
4. B, Cand D only
Options :
71087033549. 1
71087033550. 2
71087033551. 3
71087033552 4

Question Number : 49 Question Id : 7108708389 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Which one of the following types of banks or financial institutions CANNOT issue loans/credit?

1. Scheduled Commercial Banks
2. Small Finance Banks

3. Payment Banks

4, Micro-finance Institutions
Options :

71087033553. 1

71087033554.2

71087033555.3

71087033556. 4

Question Number : 50 Question Id : 7108708390 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which one of the following loans, the property which is taken as security is movable?

1. Simple mortgage

2. Equitable mortgage
3. Hypothecation

4. Unsecured loan
Options :

71087033557. 1
71087033558. 2
71087033559. 3
71087033560. 4

Question Number : 51 Question Id : 7108708391 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



It is not likely that a country will specialize completely in one good even if it has a lower
opportunity cost because opportunity costs

1. Increase as less of a good is produced

2. Decrease as more of a good is produced
3. Increase as more of a good is produced
4. Decrease as less of a good is produced
Options :

71087033561. 1

71087033562. 2

71087033563. 3

71087033564. 4

Question Number : 52 Question Id : 7108708392 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which of the following is NOT included in the calculation of the national income of India?
A. The market value of agricultural products

B. The sold value of old items

C. The output of the quaternary sector

D. Services rendered by housewives

Choose the correct answer from the options given below

1. A and C only
2. B and D only
3. B only
4. D only
Options :



71087033565. 1
71087033566. 2
71087033567. 3
71087033568. 4

Question Number : 53 Question Id : 7108708393 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When the demand for a commodity increases as other consumers are also buying the same it
is called

1. Bandwagon effect
2. Veblen effect

3. Snob effect

4, Ratchet effect
Options :
71087033569. 1
71087033570. 2
71087033571. 3
71087033572. 4

Question Number : 54 Question Id : 7108708394 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An iso-profit line in linear programming represents

1. An infinite numbers of solutions all of which yeild the same profit
2. An infinite numbers of solutions all of which yeild the same cost
3. An infinite number of optimal solutions

4. A boundary of the feasible region

Options :

71087033573. 1



71087033574. 2
71087033575. 3
71087033576. 4

Question Number : 55 Question Id : 7108708395 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If fixed costs are to be reduced by half, the break-even point would be

1. Unaffected

2. Doubled

3. Halved

4. Decreased by a factor of 4
Options :

71087033577. 1

71087033578. 2

71087033579. 3

71087033580. 4

Question Number : 56 Question Id : 7108708396 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Liquid Ratio is also known as

A. Quick ratio

B. Acid test ratio

C. Working capital ratio

D. Stock turnover ratio

Choose the correct answer from the options given below

1. A only

2. A and B only

3. A, Band C only
4. D only

Options :
71087033581. 1
71087033582. 2
71087033583. 3
71087033584. 4

Question Number : 57 Question Id : 7108708397 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The major purpose of financial management is

1. Wealth maximization
2. Sales maximization
3. Profit maximization
4, Assets maximization
Options :

71087033585. 1



71087033586. 2
71087033587. 3
71087033588. 4

Question Number : 58 Question Id : 7108708398 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the following is NOT a type of probability sampling?

1. Cluster Sampling

2. Stratified Sampling

3. Simple random Sampling
4. Quota Sampling

Options :

71087033589. 1
71087033590. 2
71087033591. 3
71087033592. 4

Question Number : 59 Question Id : 7108708399 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Protection of Plant Variety and Farmers Rights Act was enacted in

1. 1991

2. 2001

3. 2006

4. 2014
Options :
71087033593. 1
71087033594. 2
71087033595. 3



71087033596. 4

Question Number : 60 Question Id : 7108708400 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The capital allocation for a project can be minimized or stopped for which one of the following
categories as per the BCG matrix?

1. Star

2. Cash Cow

3. Dogs

4, Question Mark
Options :
71087033597. 1
71087033598. 2
71087033599. 3
71087033600. 4

Question Number : 61 Question Id : 7108708401 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Semantic differential scale is

1. Unipolar 10 point scale

2. Seven point scale with bipolar table
3. Degree of agreement as 1 - 5 scale
4. Place a mark on continous scale
Options :

71087033601. 1

71087033602. 2

71087033603. 3

71087033604. 4



Question Number : 62 Question Id : 7108708402 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Corporate downsizing has increased the trend towards

1. Reducing number of projects

2. Qutsourcing significant segments of project work
3. Using dedicated project teams

4. Shorter project lead time

Options :

71087033605. 1

71087033606. 2

71087033607. 3

71087033608. 4

Question Number : 63 Question Id : 7108708403 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The organization set up by ICAR for technology commercialization is

1. Technology Business Incubator

2. Agrinnovate Private Limited

3. Science and Technology Entrepreneurship Park
4. Atal Tinkering Lab

Options :

71087033609. 1

71087033610. 2

71087033611. 3

71087033612. 4

Question Number : 64 Question Id : 7108708404 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Arrange the steps involved in PERT analysis in the right sequence

A - Estimate time and costs of various activities

B - Develop work breakdown structure

C - Construct network diagram

D - Calculate variability of project duration and probability of completion in a given time
E - Determine critical path

Choose the correct answer from the options given below

.B-A-C-D-—E
2ZA-B-C—-D-—E
3B-A-C—-E-D
4 C—-A-B-D—-ELE
Options :
71087033613. 1
71087033614. 2
71087033615. 3
71087033616. 4

Question Number : 65 Question Id : 7108708405 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Social profits are discounted using which one of the following rates of return?

1. Annual

2. Internal

3. Accounting
4. Quarterly
Options :
71087033617. 1
71087033618. 2
71087033619. 3
71087033620. 4

Question Number : 66 Question Id : 7108708406 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The process of understanding the heirarchy of attributes that guide a consumer to make brand
decisions is

1. Consumer Behaviour
2. Problem Recognition
3. Market Partitioning
4. Customerization
Options :

71087033621. 1
71087033622. 2
71087033623. 3
71087033624. 4

Question Number : 67 Question Id : 7108708407 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Reverse Dutch Auction System was used for selling goods by

1. SFVAM (5afal)
2. APMC

3. Rythu Bazar
4, Reliance Fresh
Options :
71087033625. 1
71087033626. 2
71087033627. 3
71087033628. 4

Question Number : 68 Question Id : 7108708408 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The advertisement by Hero Pleasure, "Why should boys have all the fun?" is an example of

1. Geographic segmentation

2. Demographic segmentation
3. Psychographic segmentation
4. Behavioural segmentation
Options :

71087033629. 1

71087033630. 2

71087033631. 3

71087033632. 4

Question Number : 69 Question Id : 7108708409 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Netnography, the method to understand the human behaviour in online communities
developed by

1. Robert Kozinets
2. Philip Kotler

3. Michael Porter
4, Peter Drucker
Options :
71087033633. 1
71087033634. 2
71087033635. 3
71087033636. 4

Question Number : 70 Question Id : 7108708410 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The apex body of export promotion in India is

1. Federation of Indian Export Organization
2. Export Promotion Council for SEZ

3. Service Export Promotion Council

4. Project Export Promotion Council of India
Options :

71087033637. 1

71087033638. 2

71087033639. 3

71087033640. 4
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Question Number : 71 Question Id : 7108708411 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The unemployment due to the deficiency of aggregate effective demand is

1. Frictional unemployment
2. Structural unemployment
3. Seasonal unemployment
4. Cyclical unemployment
Options :

71087033641. 1
71087033642. 2
71087033643. 3

71087033644. 4

Question Number : 72 Question Id : 7108708412 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Crowding out effect is

1. Private entrepreneurs increasing investments due to fiscal policy measures

2. Private entrepreneurs reducing investments due to fiscal policy measures

3. Private entrepreneurs increasing investments due to monetary policy measure
4. Private entrepreneurs reducing investments due to monetary policy measures
Options :

71087033645. 1

71087033646. 2

71087033647. 3

71087033648. 4

Question Number : 73 Question Id : 7108708413 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the correct sequence of phases of trade cycle

1. Depression — Recovery — Boom — End of boom — Crisis — Slump
2. Boom - End of boom - Depression — Crisis — Slump — Recovery
3. Recovery - Boom - Depression — Crisis — Slump

4. Crisis - Slump - Boom - End of boom - Recovery - Depression
Options :

71087033649. 1

71087033650. 2

71087033651. 3

71087033652. 4

Question Number : 74 Question Id : 7108708414 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Fisher's Index number is

1 {(L+P)
2

2 \L xP

3 Y. PG

¥, Podo

A Py

Y. oy

» 100

» 100

Options :

71087033653. 1
71087033654. 2
71087033655. 3
71087033656. 4

Question Number : 75 Question Id : 7108708415 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



From the following data, calculate the Laspeyer Index Number:

Commodity| Base Year Current Year
Price |Quantity |Price  |Quantity
A 8 12 10 15
B 5 10 8 12
C 10 25 12 25
D 15 15 20 20

Choose the correct answer from the options given below

1. 118.82
2.148.82
3.128.82
4 13882
Options :
71087033657. 1
71087033658. 2
71087033659. 3
71087033660. 4

Question Number : 76 Question Id : 7108708416 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



If Rs.10 crore is invested in public works and MPS is 0.25, then the increase in income would
be

1. 10 crores
2. 20 crores
3. 30 crores
4. 40 crores
Options :
71087033661.
71087033662.
71087033663.
71087033664.

AW N =

Question Number : 77 Question Id : 7108708417 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The transaction motive for holding cash is for

1. Safety cushion

2. Daily operations

3. Purchase of assets

4. Payment of dividends
Options :

71087033665. 1
71087033666. 2
71087033667. 3
71087033668. 4

Question Number : 78 Question Id : 7108708418 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Under equal absolute sacrifice principle of taxation

1. The burden of tax is same for all but is in proportion to the income

2. The burden of tax on the tax payers must be the same

3. The marginal utility derived after the payment of tax must be same for all
4. The total real burden on the community should be as small as possible
Options :

71087033669. 1

71087033670. 2

71087033671. 3

71087033672. 4

Question Number : 79 Question Id : 7108708419 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The claim of the state to the assets of a deceased, who is without a successor or heir or a will is
known as

1. Forfeitures
2. Indemnities
3. Escheat
4, Tributes

Options :

71087033673. 1
71087033674. 2
71087033675. 3
71087033676. 4

Question Number : 80 Question Id : 7108708420 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Tax based on weight is known as

1. Progressive tax
2. Specific tax

3. Direct tax

4. Indirect tax
Options :
71087033677. 1
71087033678. 2
71087033679. 3
71087033680. 4

Question Number : 81 Question Id : 7108708421 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A commodity is taxed and its demand is elastic. For such a commeodity, the tax incidence
is likely to be shifted to the

1. Consumers only

2. Producers only

3. Consumers and producers jointly
4. Either consumers or producers
Options :

71087033681. 1

71087033682. 2

71087033683. 3

71087033684. 4

Question Number : 82 Question Id : 7108708422 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which one of the following is a viable test for the economic feasibility of a loan assessment?

1. Returns

2. Risk bearing ability
3. Capital

4. Repayment capacity
Options :

71087033685. 1
71087033686. 2
71087033687. 3
71087033688. 4

Question Number : 83 Question Id : 7108708423 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A sound capital budgeting technique is based on

1. Cash flow

2. Accounting profit

3. Interest rate on borrowings
4. Last dividend paid

Options :

71087033689. 1

71087033690. 2

71087033691. 3

71087033692. 4

Question Number : 84 Question Id : 7108708424 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Productivity of land can be increased by

A. Intensive cultivation

B. Extensive cultivation

C. Technological innovations

Select the most appropriate answer from the options given below

1. A only

2. C only

3. A and C only
4. A, BandC-All
Options :
71087033693. 1
71087033694. 2
71087033695. 3
71087033696. 4

Question Number : 85 Question Id : 7108708425 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following is NOT a test for Homoscedasticity?

1. Spearman rank correlation
2. Goldfeld-Quandt

3. Durbin Watsen

4. Glejser

Options :

71087033697. 1

71087033698. 2

71087033699. 3



71087033700. 4

Question Number : 86 Question Id : 7108708426 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The value of R? lies between

1.-11t0 1

2. 010
3.0to 1

4, -110 oo
Options :
71087033701. 1
71087033702. 2
71087033703. 3
71087033704. 4

Question Number : 87 Question Id : 7108708427 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Hedging means

1. The purchase or sale of a commodity in a future market followed by a sale or purchase in
the cash market

2. The purchase or sale of a commodity in the spot market alone

3. The purchase or sale of a commodity in the futures market alone

4. None of these

Options :

71087033705. 1

71087033706. 2

71087033707. 3

71087033708. 4



Question Number : 88 Question Id : 7108708428 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The middlemen who do not take the title of the produce and do not own it are

1. Agent middlemen

2. Speculative middlemen
3. Merchant middlemen
4. Facilitative middlemen
Options :

71087033709. 1
71087033710. 2
71087033711. 3
71087033712. 4

Question Number : 89 Question Id : 7108708429 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A processing firm assuming the function of purchasing the produce from the villages is an
example of

1. Horizontal integration
2. Conglomeration

3. Forward integration
4. Backward integration
Options :

71087033713. 1
71087033714. 2
71087033715. 3
71087033716. 4



Question Number : 90 Question Id : 7108708430 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In a production function, when MPP decreases, TPP

1. Increases at an increasing rate
2. Increases at a decreasing rate
3. Decreases at a decreasing rate
4. Remains constant

Options :

71087033717. 1

71087033718. 2

71087033719. 3

71087033720. 4

Question Number : 91 Question Id : 7108708431 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Procurement price is the price at which the government procures commeodities
from farmers to feed PDS and maintain a buffer stock

Reason R: Procurement price is mainly aimed at protecting the farmers against price fall
during surplus production or a market glut condition

In the light of the above statements, choose the correct answer from the options give be

1. Both A and R are true and R is correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A is false but R is true

Options :

71087033721. 1

71087033722. 2

71087033723. 3

71087033724. 4

Question Number : 92 Question Id : 7108708432 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the other assumption (non-stochastic assumption) of the OLS

1. U; is a random real variable

2. U; is independent of the explanatory variables

3. The explanatory variables are measured without error

4. The explanatory variables are not perfectly linearly correlated

Options :
71087033725. 1



71087033726. 2
71087033727. 3
71087033728. 4

Question Number : 93 Question Id : 7108708433 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Marx refers to the concept of the organic composition of capital. Which of the following ratios
notifies that capital?

(where C = Constant capital; V = Variable capital and 5 = Surplus value)

1. C / (V+S)
2.C/V
3L.C/8
4.5/ (C+V)

Options :

71087033729. 1
71087033730. 2
71087033731. 3
71087033732. 4

Question Number : 94 Question Id : 7108708434 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Which of the following is NOT correctly matched?

1. Big Push Strategy — Paul Rosenstein

2. Balanced Growth Strategy — R. Nurkse

3. Development with Unlimited Supplies of Labour — A.O. Hirschman
4. Critical Minimum Strategy — Harvey Leibensten

Options :

71087033733. 1

71087033734. 2

71087033735. 3

71087033736. 4

Question Number : 95 Question Id : 7108708435 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The growth model which inspired the use of Capital-Output ratio for development planning is

1. Harrod — Domar model
2. Solow's model

3. Kaldor's model

4. Feldman's model

Options :

71087033737. 1
71087033738. 2
71087033739. 3
71087033740. 4

Question Number : 96 Question Id : 7108708436 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The concept of economic growth is

1. Identical with the concept of economic development
2. Narrower than the concept of economic development
3. Wider as compared to that of economic development
4. Unrelated to the concept of economic development
Options :

71087033741. 1

71087033742. 2

71087033743. 3

71087033744. 4

Question Number : 97 Question Id : 7108708437 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Identify the approach, where the concept of marginal rate of substitution does NOT involve
the measurement of marginal utilities

1. Samuelson
2. Hicks - Allen
3. Slutsky

4, Pareto

Options :

71087033745. 1
71087033746. 2
71087033747. 3
71087033748. 4

Question Number : 98 Question Id : 7108708438 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The Price Consumption curve when demand for a good is inelastic, is

1. Downward sloping

2. Slopes downward at 45°
3. Upward sloping

4. Vertical

Options :

71087033749. 1
71087033750. 2
71087033751. 3
71087033752. 4

Question Number : 99 Question Id : 7108708439 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

An entrepreneur would be minimizing his cost, when

1. MRTS is > price ratio of factor
2. MRTS is < price ratio of factor
3. MRTS = price ratio

4. MRTS is zero

Options :

71087033753. 1

71087033754. 2

71087033755. 3

71087033756. 4

Question Number : 100 Question Id : 7108708440 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Price elasticity of demand for an individual firm is large, under

1. Perfect competition

2. Monopolistic competition
3. Pure oligopoly

4. Monopoly

Options :

71087033757. 1

71087033758. 2

71087033759. 3

71087033760. 4

Question Number : 101 Question Id : 7108708441 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Presence of a large number of firms producing differentiated products, with a large price
elasticity of demand and some degree of control over price, is a characteristic of

1. Differentiated cligopoly
2. Pure oligopoly

3. Perfect competition

4. Monopolistic competition
Options :

71087033761. 1

71087033762. 2

71087033763. 3

71087033764. 4

Question Number : 102 Question Id : 7108708442 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Horizontal straight line average revenue curve indicates that

1. Price increases with the quantity sold being constant

2. Price remains the same when quantity sold is decreased
3. Price remains the same when quantity sold is increased
4. Price decreases with increase in quantity sold

Options :

71087033765. 1

71087033766. 2

71087033767. 3

71087033768. 4

Question Number : 103 Question Id : 7108708443 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The second-order condition for a firm to be in a stable equilibrium position is

1. MC must cut the MR from above
2. MC should be < MR

3. MC should be = MR

4, MC must cut the MR from below
Options :

71087033769. 1

71087033770. 2

71087033771.3

71087033772. 4

Question Number : 104 Question Id : 7108708444 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



An economy experiencing increasing prices, unemployment and no phenomenal progress in
development, is said to be experiencing

1. Cost — push inflation

2. Hyperinflation

3. Comprehensive inflation
4. Stagflation

Options :

71087033773. 1
71087033774. 2
71087033775.3
71087033776. 4

Question Number : 105 Question Id : 7108708445 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Identify the best-suited model that includes the risk in preparation of optimal farm plans

1. Linear programming
2. Goal programming
3. MOTAD

4, LOGIT

Options :

71087033777. 1
71087033778. 2
71087033779. 3
71087033780. 4

Question Number : 106 Question Id : 7108708446 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

The economist who was awarded the Nobel prize for the development of input-output
method and its application to an important economic problem

1. Gunnar Myrdal
2. Paul Samuelson
3. Wassily Leontief
4. Ragnar Frisch

Options :

71087033781. 1
71087033782. 2
71087033783. 3
71087033784. 4

Question Number : 107 Question Id : 7108708447 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Liquidity Preference Theory of interest rate determination was propounded by

1. Wicksell

2. Keynes

3. Bohm - Bawerk
4. Irving Fisher
Options :
71087033785. 1
71087033786. 2
71087033787. 3
71087033788. 4

Question Number : 108 Question Id : 7108708448 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



The model for derivation of elasticity of marketed surplus that considers more than one

subsistence crop is

1. Rajkrishna

2. Behrman Model
3. Moore Model

4, Dandekar Model

Options :

71087033789. 1
71087033790. 2
71087033791. 3
71087033792. 4

Question Number : 109 Question Id : 7108708449 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 11

A, Variable Repayment Plan [l.  Payment of principal component in a
lump sum on the maturity of the loan
and interest is paid every year

B. Reserve Repayment Plan [ll.  Payment of principal loan and interest in
quarterly, half-yearly or annual
instalments

C. Balloon Repayment Plan |lll. Installment paid of varying amounts over

the loan period

D. Straight End Repayment [IV. Advance payments of loans made from
Plan savings of previous years

Choose the correct answer from the options given below

TLA-NLE-IV,C-II,D-1I
2A-ILE-NN,C-1LD-IV
SA-N,E-IL,C-I,D-IV
4A-ILB-IILC-IV,D-1

Options :

71087033793. 1
71087033794. 2
71087033795. 3
71087033796. 4

Question Number : 110 Question Id : 7108708450 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 4 Wrong Marks : 1

Match List | with List 1l

List | List 11

A, Demand-pull inflation Prices of few commodities show an

upward trend

B. Suppressed inflation Il.  Policies are adopted to check the rise in
the price level

C. Hyperinflation lll.  Price rise is very high

D. Sporadic inflation V. Too much money chasing too few goods

Choose the correct answer from the options given below

T.A-U,B-NI,C-IV,D-1
2A-IV,B-|,C-1I,D-ll
3A-ILB-I,C-1,D-1IV
4 A-IV,B-ILC-II,D- |
Options :

71087033797. 1
71087033798. 2
71087033799. 3
71087033800. 4

Question Number : 111 Question Id : 7108708451 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



For small holder agriculture with limited resource endowments, the technology intervention
should aim at

1. Increasing gross returns with increasing cost of cultivation
2. Lowest incremental benefit cost ratio

3. Highest incremental benefit cost ratio

4. Increasing net returns with increasing cost of cultivation

Options :

71087033801. 1
71087033802. 2
71087033803. 3
71087033804. 4

Question Number : 112 Question Id : 7108708452 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the Cobweb model, when the price elasticity of demand(Ed) and supply(Es) is such that Ed >
Es, then which one of the following outcomes occurs?

1. Regular

2. Explosive

3. Divergent
4, Convergent
Options :
71087033805. 1
71087033806. 2
71087033807. 3
71087033808. 4

Question Number : 113 Question Id : 7108708453 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Application of a non-linear production function for fertilizer — crop yield relationship, was first
explored by

1. Leontiff

2. Bisliah

3. Mitscherlich
4, Griliches

Options :

71087033809. 1
71087033810. 2
71087033811. 3
71087033812. 4

Question Number : 114 Question Id : 7108708454 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11

List | List 11

A, Clive Granger Theory of economic growth
B. Elinor Ostrom |ll. Welfare economics

C. AmartyaSen [lll. Cointegration

D. Robert Solow |IV. Economic governance, especially
the commons

Choose the correct answer from the options given below

T.A-U,B-1I,C-IV,D-1I
2A-IL,B-IV,C-Il,D-1
3A-ILB-LC-IV,.D-1ll
4AA-ILB-NINC-1,D-IV
Options :

71087033813. 1
71087033814. 2
71087033815. 3
71087033816. 4

Question Number : 115 Question Id : 7108708455 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement |: The transcendental preduction function was first proposed by A.N.Halter
Statement lI: The transcendental production function was first proposed by Chyang

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087033817. 1

71087033818. 2

71087033819. 3

71087033820. 4

Question Number : 116 Question Id : 7108708456 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Optimization of farm plans for maximization of net profit or cost minimization can be obtained
by

1. Cobb — Douglas Production function
2. Linear Programming

3. Liner Regression

4. Partial Budgeting

Options :
71087033821. 1
71087033822. 2



71087033823. 3
71087033824. 4

Question Number : 117 Question Id : 7108708457 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement |: In the formulation of projects tangible benefits are only considered

Statement II: In the formulation of projects tangible benefits are not at all considered

In the light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
Options :

71087033825. 1

71087033826. 2

71087033827. 3

71087033828. 4

Question Number : 118 Question Id : 7108708458 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement |: There is no technology commercialization in ICAR

Statement lI: There is a separate Agrinnovate Company for technology commercialization at
New Delhi

In light of the above statements, choose the correct answer from the options given below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement 1l is correct
Options :

71087033829. 1

71087033830. 2

71087033831. 3

71087033832. 4

Question Number : 119 Question Id : 7108708459 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Chief Executive Officer of National Rainfed Area Authority is

1. Dr.T.Mohapatra
2. Sanjay Agarwal
3. Ashok Dalwai
4. Dr.Kothari
Options :
71087033833. 1
71087033834. 2
71087033835. 3
71087033836. 4



Question Number : 120 Question Id : 7108708460 Question Type : MCQ Option Shuffling : No Display Question Number
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Wilcoxon — Mann — Whitney test is used to determine whether two independent
samples have been drawn from the same population

Statement II: Fisher Irwin test is used in testing a hypothesis concerning no difference
between two sets of data

In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement |l is correct
Options :

71087033837. 1

71087033838. 2

71087033839. 3

71087033840. 4

: Yes Is



